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General Instructions

. This Question Paper has 5 Sections A, B, €, D and E.

Section A has 20 MCQs carrying 1 mark each

Section B has 5 questions carrying 02 marks each.

Section C has 6 guestions carrying 03 marks each.

Section D has 4 questions carrying 05 marks each.

Section E has 3 case based integrated units of assessment (04 marks each)
x_-wth sub-parts of the values of 1, 1 and 2 marks each respectively.

All questions are compulsory. However, an internal choice in 2 questions of 5
marks, 2 questions of 3 marks.and 2 questions of 2 marks has been provided.
An internal choice has been provided in the 2 marks questions of Section £

8. Draw neat figures wherever required,

@B WA e

“

: F ~ SECTION A

- (Section A consists of 20 questions of 1 mark each) i A
| The distance of the point P(-3,-4) from the x -axis (in units) Is:
| (a)3 (BN {c)4 (d) 5
| In the grve_n_ f_icj[jre,the pcsit:’oné"_ol‘ the observer and the object are l'r‘teﬁt:-"‘_-n-ﬂ_a_'[-r;*— angle
|| of depression is:

| - =
(d) 457

' " (a). 3@° (b) 90° (c)60"

03 In an AP, ifd ==4, n =7 and a, =4, then a is equal to:
(a)é (b) 7 (c) 20 (d) 28

Q4 If the centre of a circle is (3, 5) and end points of a diameter are (4, 7) and (2, y), then
the value of y Is:
(a)3 (b) =3 (c)7 (d) 4

Q5 Which of the following statement is false?
' (a) All equilateral triangles are similar. (R) All quadrilateral are similar.
(c) All circles are similar. (d) None of the above

Q6 Ratio of volumes of two cones with same radii is:

(@) ha (b) s1: %2 (c)n:ir (d) None of these
= o
97 If cos A =—, the value of 4 + 4 tan®A will be:
(a)1 (b) 2 (c)4 (d) 25
Q8 | The nth term of the AP a , 3a , 53, ... is: A ]
(a)na (P_J (2n-1) a (c)(2n+ 1)a (d)2na
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2]y of a frequency distribution are 26 and 29, then its mean is:

—|_1_u--_ de :'E_D; vel
Uit SRR (€)27.5 (d) 25.8
srimeter of a semicirt rcular protractor is 36cm, then its diameter is:
) 0 (b) 12 cm (€) 14 em (d) 15 ¢m
2 (
g In the given figure, ZACB = 909, ZBDC = 909 CD = 4cm, BD = 3cm, AC = 12 cm, then
A =sin Al sequai ki g

=l ~l tn in

o e s
LS B 1 N 5 I

| Ifsin® + cos @ = V2 cos 8, (8 = 90°), then the value of tan @ is:

Qi3 | Ifsin® + cos@ =
(8) v2 -1 (b) V2 + 1 (c) v2 (d) —=v2
Q14 [In AABC, DE// BC,AD = x, AE = x + 2, DB = x - 2 and EC = % — 1 (in ems) then value of X is:
(a) 2.cm (B)4 cm (c)5em (d)1 cm
|

015 | The cumulative frequency table is useful in determining:

(a)Mean (b) Median (c)Mode (d) All of these

16 | A wire s looped in the form of a circle of radius 28 cmu IL IS re-bent into 3 square form, then the

length of the side of the square is:
(a)42 cm (b) 44 cm (c) 46 cm (d) 48 cm

HCF of the smallest composite number and smallest prime number is:
a) 4 (b) 2 © 4 (d) 0

Q18 | Th coability that a leap year selected at random contain 53 Monday is:
2453/ 3656 (b) 1/7 (c) 2/7 (d) 53/365

DIRECTION: In the question number 19 and 20, a statement of assertion (A) is followed

by a statement of Reason (R). Choose the carrect option:
(a)Both assertion (A) and reason (R) are trite and reason (R) Is the correct explanation ofassertion

\ A 1
(b)Both assertion (A) and reason (R) are true and reason (R is not th '
_ on (R ot the ¢
Sl 2ason (R) is orrect explanation of
"c‘léssertaon (A) is true but reason (R) is false.
JAssertion (A) is false but reason (R) is true,

Q19 | Assertion: (2x - 1)2 - 4x? + 5 = O is not a quadratic equation
Reason: An equation of the form ax2 + bx + ¢ = :
equation. €=0,a% 0, where a, b, ce Ris called a quadratic
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Assertion: 3—2}_-’- is a termmatlng deumal fraction.

Reason: If g = 275" where m, n are non-negative integers;, th

fraction.

Ifx = 3 sind + 4 cos dand y = 3 cos 6 — 4 sin 8 then find the va

(b) A multiple of 7.

All red face cards ai
and then a card is draw
(a) a red ard
(b) a face card

?fﬁi‘ﬁ d

| metres more than the

Solve the followir

Prove that V7 is an i




“n AD of a & ABC are respactively p,rf‘o'ri_u'rth_ﬂ_a'.l to si

L S P
| Gidel AB and BC and median /i AE R
. r‘m.‘.‘clli‘m rﬂ';v: of APGR ., Show that msc APQ

M

= ee horses are tied each witn 7 m long rope at three cor
;[I;;qu;g m 34 m and42 m. Find the area of the plot which
G 2 ] " “oR
APOR is an equilateral triangle of
tres of circular arcs, each of radi
reglon. (Use n = 3.14 and

In the given flgure,
and (2, EyF are cen

.| Find the area of shaded
V3= 1.732)

Section D consists of 4

' From a cuboidal solid metallic block of di
a cylindrical hole of diameter 0.07m is'd

‘ Find the surface area of the remaining blog

A contalner shaped right circular cylinds
cream. The ice cream is to be filled into
! hemispherical shape on the top. Find'!

s
A cos A-sinA+1

Q33 farave that: Sheeto e
cos A+sin A=1

(@3) [ A vertical tower stands on a
From a point on theground the ar
' 60" and 30° respectively. Find th

The mean of the following .
Compute the missing frequen

Frequenci

| ES

' The median of the f
|
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"N\ - SECTION E
NN ase study-based questions are compulsory.
! (Section E consists of 3 questions of 4 marks each) ' .
% _(Em’-“.ﬂ“*-"'!.”.m.‘_"i‘_'-"..Q_J?_EIL}__S__With mark(s) 1+1+2 with choice in 2 marks cquestion)

s | While investigati ‘ara : T : i i [ i
i6 | \ b ¢ rL t‘ _jl::].s.tmg different job opportunities, Arun finds that firm A will start wlth mltn.a_t
salary of * 22,000 per month for orie \year anid guarantee him a raise of € 120 EaEl S
| whereas firm B will start with initial salary of 28,000 per year but will guarantee him a
raise ol only ¥ 800 each vyear U r A
. !

Based on the above information, answer the following questions.

-
-
i3
—

(a) Over a period of 15 years, how muech would Arun receive from firffl A
(b) Over a period of 15 years. how much would Arun recelve from firm B7
Ilf-":-) What would be his annual salary at firm A for the tenth year?

OR R,

| b
| What would be his annual salary at firm B for the tenth year o -

L — I —— - —

Q37 | Resident Welfare Association (RWA) of a Gulmohar S
| electric poles A, 8 and C in a society’s common park, Despite t
| of the park are still in dark. So, RWA decides to have one more e

ociety in Delhi have installed three

lectric pole 2 in the park.

hese three polas, some parts

] = —r | t E '|: R
| i | S} | B
|| i Al ' | 1
i ) § = | !
| | B | \ |
{j —_ l 1!,
fl 5 | | C'% ._ | '|
| f 4 J' : 1 L
3 J |
; 1 LT
: s D .
0}(} ] 2 B e e R R

The park can be modelled as a coordinate system given above.
Based on the above information, answer the following questions.

(a) What is the position of the pole C 2

(b) What is the distance of the pole 8 from the corner O of the

(c) Find the position of the fourth pole D so that four points A,
parallelogram. Y4 ol

OR
What is the distance between poles A and C?
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